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BIOvy AKRIMSHES (1.0t 81 Y) ® Beb# | 1.00 | 9.80 | 10.40 | 4.30 | 3.65 0.45 0.20 | 40.12 -1.07 | 39.05 | 39.05| 11.08| 10.30 | 21.38 | 21.38| 0.92 | 20.46
i d Al R % X% H " = B | & B & £ @ fE £ & 1.00 10. 40 11.00 3.65 3.00 0.45 0.20 | 35.55 -1.13 | 34.42 34. 42 11.73| 10.91 | 22.64 22.64 1.94 | 20.70
R#&R 150mm x ¢ 22 N= 5.00 = 500 @ 5.0 ® Beb#h | 1.50 | 13.52 | 14.42| 3.00| 2.70 0.00 0.20 | 59.69 | -2.12 | 57.57 | 57.57 | 20.96 | 21.37 | 42.33 | 42.33 | 7.69 | 34 .64
LKA L= 2.0x1.0966 = 219 m 2.2 |[BEFMOA ® Bl | 1.30 | 14.42| 15.20 | 2.70 | 2.44 0.00 0.20 | 49.46 | -1.94 | 47.52 | 47.52 | 19.25 | 19.63 | 38.88 | 38.88 | 13.36 | 25.52
KEH | A= 1/2x (9. 175% = 27.04| m 2.80 Aft 109.15 | -4.06 | 105.09| 105.09 81.21 | 81.21 | 21.05| 60.16
B #h 5 BEAERS (LS | A= 1/2x(3.0+4.3) x2.0 = 7.30| m2 7.3 KEERANE KEEANE
it ZA= 7.3 = 7.30 | m2 KEH & KEER &
Vi= 7.3x-0.05 = -0.37| m3 B #.5 ## (£=0. 05) & £ #B /N E 105.09| 105.09 ENE N 81.21| 21.05| 60.16
V2= -1/2x0.502x0.063x1.00 = -0.02| m3 avyy— hER -0.38 | -0.38 X3 b
avhY-HERR ock=18N/mm2 |BE L& | V3= -1/2%x1.60x0.20x7x1.00 E -1.12 | m3 1.9 |smEERE BELEE & 104.7| 104.7 BEEER & 81.21 21.05 60.16
V4= -0.280x1.30x 1.00-1/2x0. 280 x0. 037 x 1. 00 = -0.37| m3
T V= -0.37-0.02-1.12-0. 37 =  -1.88| m3 it 104.7| 104.7 #wit 81.2 | 21.1 60.2
Al= 1/2x (2.74+3.00) x1.30x1.1180 = 47| m K3 L
A2= 1/2x0.502x0.063x1x2+1.00x0.063 = 009 m
B A BWE Beb#8 | A3= 1/2x1.60x0.20x7x2+1.00x0.20x7 = 3.64| m2 8.6 |&mMAMER X EMBERLLIRICY U—FE 0.05m3/m2L LTS,
Ad= 0.280x1.30x2+1/2x0.280x0.037x2 = 0.74| m2 X AEBRERLERICY U—RE, 0.05m3/m2& LTS,
T A=4.17+0.09+3. 64+0. 74 = 8.64| m2 BJOws avsy—f - RS ESR
T % Y- MEE B
®% | K5 | B | TR | £ | FH | LW | LRg8| TRED| BE | PiEh| BE |agap £A0 | TR | 88 [ a0l s | sEs | sz
COOv I FRARIBEHER ARETTED W | Um | 2w | i | ew | ot | ate | @ E | o [ROT an [ wy | e | ™ | w2 | @2
w A B® R 5 B " s B @ & w & @ KE®E | 1.00 | 4.00 | 4.80 | 12.10 | 11.45 0.45 0.20 | 51.77 | -0.47 | 51.30 4.82 | 4.49 | 9.31 9.31 9.31
LKA L= 2.0x1.0966 = 219 m 22| BEFMOH @ K#E | 1.00 | 4.80 | 560 | 11.45 | 10.80 0.45 0.20 | 57.81 -0.55 | 57.26 | 57.26 | 5.70 | 5.30 | 11.00 | 11.00 | 0.48 | 10.52
KIRAEE Ea— L% $600 L= 6.640+4.885x2 = 1641 n 16.4 -1 | KEER 0.64 5. 60 6.11 10.80 | 10.38 0.45 0.20 | 39.67 -0.40 | 39.27 | 39.27 4.1 3.82 7.93 7.93 1.18 6.75
K#&# | A= 1/2x (6.088+ = 21.19] m @ -2 | BEEE | 0.36 | 611 6.40 | 10.38 | 10.15 0.45 0.20 | 23.11 -0.24 | 22.87 | 22.87 | 2.47 | 2.30 | 4.77 477 | 0.76 | 4.01
B R BEAFEES BEEH | A= 1/2x(3.0+4.3) x2 = 7.30 | m 7.3 @ BELE | 1.00 6. 40 7.20 | 10.15 | 9.50 0.45 0.20 | 66.77 -0.72 | 66.05 | 66.05 | 7.46 6.93 | 14.39 14.39 | 2.45 | 11.94
il ZA= 7.30 = 1.30 | m2 ® BEEH | 0.75 | 9.20 [ 9.80 | 9.50 | 9.01 0.45 0.20 | 65.92 | -0.75 | 65.17 | 65.17 | 7.81 7.27 | 15.08 | 15.08 | 2.17 | 12.91
I9)-MEBR  |ock=18N/mm2 |BEE#B | V= 7.30x-0.05 = -0.37 | m2 | -0.4 | BEmm#(t=0.05) ® BEE# | 0.75 | 9.80 | 10.40 | 9.01 8.53 0.45 0.20 | 66.41 -0.80 | 65.61 | 65.61 | 8.31 7.73 | 16.04 | 16.04 | 2.46 | 13.58
@ BEE# | 0.75 | 10.40 | 11.00 | 8.53 | 8.04 0.45 0.20 | 66.47 | -0.85 | 65.62 | 65.62 | 8.80 | 8.18 | 16.98 | 16.98 | 2.74 | 14.24
® BEE# | 0.75 | 11.00 | 11.60 | 8.04 | 7.55 0.45 0.20 | 66.04 | -0.90 | 65.14 | 65.14 | 9.29 | 8.64 | 17.93 | 17.93 | 533 | 12.60
DAY I ARKRIFEHER (1.0skHfY) ©® Beb# | 0.75 | 11.60 | 12.20 | 7.55 | 7.06 0.45 0.20 | 65.18 | -0.94 | 64.24 | 64.24 | 9.79 | 9.10 | 18.89 | 18.89 | 6.76 | 12.13
w A ®OK | B & " = B )% B w ® BEL# | 0.75 | 12.20 | 12.80 | 7.06 | 6.58 0.45 0.20 | 63.92 | -0.99 | 62.93 | 62.93 | 10.28 | 9.56 | 19.84 | 19.84 | 7.05 | 12.79
R#&R 150mm x ¢ 22 N= 5.00 = 500| @ 5.0 @ BEE# | 0.75 | 12.80 | 12.80 | 6.58 | 6.09 0.45 0.20 | 60.82 | -1.02 | 59.80 | 59.80 | 10.53 | 9.79 | 20.32 | 20.32 | 7.33 | 12.99
KA C F300-7 L= 2.62 = 2.62| m 2.6 | gEFHOH @ BELE | 0.75 | 12.80 | 12.80 6. 09 5.60 0.45 0.20 | 56.11 -1.02 | 55.09 | 55.09 | 10.53 9.79 | 20.32 20.32 7.62 | 12.70
B BEEFEES BEEH | A= 49 (2.476+3.0) x2.62 = 11| m 1.2 ®@ BEEE | 1.00 | 12.80 | 12.80 | 5.60 4.95 0.45 0.20 | 67.52 | -1.35 | 66.17 | 66.17 | 14.04 | 13.05 | 27.09 27.09 | 10.76 | 16.33
Vi= 7.17x-0.05 = -0.36| m3 B 8% # (£=0.05) @ BEEE | 1.00 | 12.80 | 12.80 | 4.95 | 4.30 0.45 0.20 | 59.20 | -1.35 | 57.85 | 57.85 | 14.04 | 13.05 | 27.09 | 27.09 | 12.87 | 14.22
V2= -1/2x0.652x0.081x 1,00 = -0.03| md ® BEE# | 1.00 | 12.80 | 12.80 | 4.30 | 3.65 0.45 0.20 | 50.88 | -1.35 | 49.53 | 49.53 | 14.04 | 13.05 | 27.09 | 27.09 | 13.05 | 14.04
avhY- MR ock=18N/mm2 |BE L& | V3= -1/2x1.60%0.20x6x1.00 =  -0.96 | m3 -7 | EEARE -1 | L 1.00 | 12.80 | 12.80 3.65 3.00 0.45 0.20 | 42.56 -1.35 | 41.21 | 41.21 14.04 | 13.05 | 27.09 27.09 | 13.05 | 14.04
V4= -0.280x 1.30x 1.00-1/2x0.280x0.037x1.00 = -0.37| m3 ® -2 | BEL# | 0.50 | 12.80 | 12.55 | 3.00 | 2.90 0.00 0.20 | 18.70 | -0.64 | 18.06 | 18.06 | 6.34 | 6.46 | 12.80 | 12.80 | 6.46 | 6.34
2 V= -0.36-0.03-0.96-0.37 = 2 m @ BELE | 0.80 | 12.55 | 12.15 2.90 2.74 0.00 0.20 | 27.87 -1.00 | 26.87 | 26.87 9.88 | 10.08 | 19.96 19.96 | 10.08 9.88
Al= 1/2x (2.74+3.00) x1.30x 1.1180 = 47| m Kl L # @ Beb# | 1.50 | 12.15 | 0.15 | 2.74 | 2. 44 0.00 0.20 | 24.34 | -0.93 | 23.41 | 23.41 | 9.23 | 9.41 | 18.64 | 18.64 | 9 41 9.23
L= /850, GRH6, Gl ka = 00 m 88 ad 164.35 | -5 27 | 159 08 | 159.08 105.58| 105.58| 57 05| 53 53
R AR WA Beb#B | A3= 1/2x1.60x0.20x6x2+1.00x0.20x6 = 312 m 8.1 K ERNE KN
A4= 0.280x 1.30x2+1/2x0.280x0.037x2 = 074 m ERARR KEBH B KEBE® F
ZA= 4.17+0.05+3.12+0. 74 = 808]m B b &/ 5 159.08| 159.08 B b NE 105.58) 52,05/ 53.53
avyy— bER -1.88| -1.88 B 15
EJRvIRRIFEHER NETTAD T 157.2 | 157.2 BrEm o & 105.58| 52.05| 53.53
- B " O® | Es " ® B | ® @ w =
1E KR C F300-7 L= 2.80 = 2.80 | m 2.8 |REFMO#H #Et 157.2 157.2 #Et 105. 6 52.1 53.5
B B BEBEFERS BELEH | A= 1/2x (2.44+43) x2.8 = 7.62 | m2 7.6
V1= 7.62x-0.05 = -0.38| m3 B 8 4 (£=0. 05)
9)-HER |0 ok=18N/m2 |e.rgp | oo _1/2%0.802x0.063x1. 00 i 153 LT A O % CHBFERERIYY U= hE, 0.05m3/m2E LT,
V3= -1/2x (0.081+0.20) x0.948x 1. 00 = -0.13| m3 ¥ O BEBRFRMERICSU—RE 0.05m3/m2&LTWS,
T V= -0.38-0.02-0. 13 =  -0.53| m3 e ——— .
Al= 1/2x0.502x0.063x 2+1. 00 0. 063 = 009 m ‘ }j = E‘l‘ “‘
B ABE BEb# | A2= 1/2x (0.081+0,20) x 0. 948 x 2+1, 00 x 0. 20 = 0.47| m 0.6 EERRE % e AX &
T A= 0.09+0. 47 = 0.56| m BE B _% =}
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EJOovyy avyy—+b - BRBEHER

T s 90 MARE E
®E | K% | B | TE | £E | T# LW | biED | TiER | BE BRIE] 88 |ppgmp| SHB | TRE | 28 |, 0 a8 | ABs s
Hm | Lim | L2 | Wi | w2 | (aND | (N2 | m3) B m3) | ® I (m2) (m2) (m2) (n2) (n2)
® K&# | 0.75| 9.00 | 9.00| 12.10 | 11.61 0.45 0.20 | 80.02| -0.71] 79.31 7.40 | 6.88 | 14.28| 14.28 14.28
P K## | 0.75| 9.00 | 9.00| 11.61| 11.13 0.45 0.20 | 76.75| -0.71| 76.04 | 76.04 | 7.40 | 6.88 | 14.28 | 14.28 14.28
® k&2 | 0.75 | 9.00 | 9.00| 11.13 | 10.64 0.45 0.20 | 73.47| -0.71| 72.76 | 72.76 | 7.40 | 6.88 | 14.28| 14.28| 5.05 | 9.23
~1| Kk=m | 039 | 900| 9.00| 10.64] 1038 0.45 0.20 | 36.89| -0.37| 36.52| 36.52| 3.85 | 3.58 | 7.43 7.43| 3.58 | 3.85
O T rm | 03| w00 | w00 | 1038 101 0.45 0.20 | 33.26| -0.34| 32.92| 32.92| 3.55| 3.30 | 6.85 6.85 | 3.30 | 3.55
Ber#p | 0.75| 9.00 | 9.00| 10.15| 9.66 0.45 0.20 | 66.86| -0.71| 66.15| 66.15| 7.40 | 6.88 | 14.28 | 14.28 | 6.88 | 7.40
S Ry [ELEER 0.385x9/923x14HF 0. 45 0.20 -3.82 -3.82 -3.82 -0.42 -0.39 -0. 81 -0. 81 -0.39 -0.42 [Ea—LE
® Ber#s | 0.75| 9.00 | 9.00| 9.66| 9.18 0.45 0.20 | 63.59| -0.71| 62.88 | 62.88 | 7.40 | 6.88 | 14.28| 14.28| 6.88 | 7.40
@ Ber#s | 1.00 | 9.00| 9.00| 9.18| 8.53 0.45 0.20 | 79.70| -0.95| 78.75| 78.75| 9.87 | 9.18 | 19.05| 19.05| 9.18 | 9.87
. Ber#n | 1.00| 9.00| 9.00| 8.53| 7.88 0.45 0.20 | 73.85| -0.95| 72.90 | 72.90 | 9.87 | 9.18 | 19.05| 19.05| 9.18 | 9.87
© iR ELEE 0.385x8)168x24 0.45 0.20 -6.29 -6.29 -6.29 -0.84 -0.79 -1.63 -1.63 -0.79 -0.84 |[Ea—LE
) Ber# | 1.00| 9.00| 9.00| 7.88| 7.23 0.45 0.20 | 68.00 | ~-0.95| 67.05| 67.05| 9.87 | 9.18 | 19.05| 19.05| 9.18 | 9.87
® BE# | 1.00 | 900 | 9.00| 7.23| 658 0.45 0.20 | 62.15| -0.95| 61.20 | 61.20 | 9.87 | 9.18 | 19.05| 19.05| 9.18 | 9.87
Ber#p | 1.00 | 9.00 | 9.00| 6.58 | 593 0.45 0.20 | 56.30 | -0.95| 55.35| 55.35 | 9.87 | 9.18 | 19.05| 19.05| 9.18 | 9.87
Ll o e 0.3856]413x 17 0.45 0.20 | -2.47 247 | -2.47| -042| -0.39| -0.81| -0.81| -0.39| -0.42 |Ea—bLf
® Ber#p | 1.00 | 9.00 | 9.00| 5.093| 528 0.45 0.20 | 50.45| -0.95| 49.50 | 49.50 | 9.87 | 9.18 | 19.05| 19.05| 9.18 | 9.87
Ber#p | 1.50 | 9.00 | 9.00| 5.28 | 4.30 0.45 0.20 | 64.67| ~-1.43| 63.24 | 63.24| 14.80 | 13.77 | 28.57 | 28.57 | 13.77 | 14.80
® en mrm 0.385x 4] 658 x 27 0.45 0.20 | -3.59 -3.50 | -3.50| -0.84| -0.79 | -1.63| ~1.63| -0.79 | -0.84 |Ea—Lf&
® Ber#p | 1.50 | 9.00 | 9.00| 4.30 | 3.33 0.45 0.20 | 51.50 | ~-1.43| 50.07 | 50.07 | 14.80 | 13.77 | 28.57 | 28.57 | 13.77 | 14.80
® Ber#p | 0.50 | 9.00 | 9.00| 3.33| 3.00 0.45 0.20 | 14.24| -0.48| 13.76 | 13.76 | 4.93 | 4.50 | 9.52 9.52 | 4.59 | 4.93 |smavyu—
6.5 & 293.25| 619 | 287.06| 287.06 121.37] 121.37| 58.49 | 62.88
KEENE KEEINE
KEEH E KEH E
Bk & B 287.06| 287.06 B 8RUNE 121.37 | 58.49 | 62.88
avyy—rER -0.37 | -0.37 B Prd
P& & 286.7 | 286.7 BEEE 121.37| 58.49 | 62.88
e DR 40| 14.0
@i 300.7 | 300.7 121.4 | 58.5 | 62.9
X EEBEEAEBRILSU—RE, 0.05m3/m2& LTWA,
X BEBREEMERILYU—kE, 0.05m3/m2& LTS,
DJAvy avyy—h - BRHEHER
T % 9 AR ET
e | ms | mx | TR [ £5 | TH | b8 | eams| Tage| wE BURR] 2B |sppm £00 | TAR | BB | gue tus | sEs | w3
Hem | Lim | L2 | Wi | w2 | (aND | (N2 | m3) & m3) | ® I g (m2) (m2) (m2) (n2) (n2)
® k&#m | 100 | 400 | 480 | 1210 | 11.45 0.45 0.20 | 51.77 | -0.47 | 51.30 4.82 | 449 | 9.31 9.31 9.31
) K&# | 1.00 | 4.80 | 560 | 11.45 | 10.80 0.45 0.20 | 57.81 | -0.55 | 57.26 | 57.26 | 5.70 | 5.30 | 11.00 | 11.00 | 0.48 | 10.52
1| k#m | o064 | 560 | 6.11 | 10.80 | 10.38 0.45 0.20 | 39.67 | -0.40 | 39.27 | 39.27 | 4.11 | 3.82 | 7.93 7.93 | 1.18 | 6.75
® T wem | 06| 611 ] 640 | 1038 ] 1015 0.45 0.20 | 23.11 | -0.24 | 22.87 | 2287 | 247 | 2.30 | 47 477 | 076 | 401
@ Ber# | 1.00 | 6.40 | 7.20 | 10.15 | 9.50 0.45 0.20 | 66.77 | -0.72 | 66.05 | 66.05 | 7.46 | 6.93 | 14.39 | 14.39 | 2.45 | 11.94
® Ber# | 0.75 | 11.20 | 11.20 | 9.50 | 9.01 0.45 0.20 | 77.74 | -0.89 | 76.85 | 76.85 | 9.21 | 8.57 | 17.78 | 17.78 | 2.17 | 15.61
® Beb# | 0.75 | 11.20 | 11.20 | 9.01 | 8.53 0.45 0.20 | 73.67 | -0.89 | 72.78 | 72.78 | 9.21 | 8.57 | 17.78 | 17.78 | 2.46 | 15.32
@ Ber# | 075 | 11.20 | 11.20 | 8.53 | 8.04 0.45 0.20 | 69.59 | -0.89 | 68.70 | 68.70 | 9.21 | 8.57 | 17.78 | 17.78 | 2.74 | 15.04
Ber# | 0.75 | 11.20 | 11.20 | 8.04 | 7.55 0.45 0.20 | 65.48 | -0.89 | 64.59 | 64.59 | 9.21 | 8.57 | 17.78 | 17.78 | 6.69 | 11.09
©] Beb# | 0.75 | 11.20 | 11.20 | 7.55 | 7.06 0.45 0.20 | 61.36 | -0.89 | 60.47 | 60.47 | 9.21 | 8.57 | 17.78 | 17.78 | 8.57 | 9.21
® Ber# | 075 | 11.20 | 11.20 | 7.06 | 6.58 0.45 0.20 | 57.29 | -0.89 | 56.40 | 56.40 | 9.21 | 857 | 17.78 | 17.78 | 8.57 | 9.21
@ Ber# | 0.75 | 11.20 | 11.20 | 6.58 | 6.09 0.45 0.20 | 53.21 | -0.89 | 52.32 | 52.32 | 9.21 | 857 | 17.78 | 17.78 | 8.57 | 9.21
@ Ber# | 0.75 | 11.20 | 11.20 | 6.09 | 5.60 0.45 0.20 | 49.10 | -0.89 | 48.21 | 48.21 | 9.21 | 857 | 17.78 | 17.78 | 8.57 | 9.21
® Beb# | 1.00 | 11.20 | 11.20 | 5.60 | 4.95 0.45 0.20 | 59.08 | -1.19 | 57.89 | 57.89 | 12.28 | 11.42 | 23.70 | 23.70 | 11.42 | 12.28
@ Ber# | 1.00 | 11.20 | 11.20 | 4.95 | 4.30 0.45 0.20 | 51.80 | -1.19 | 50.61 | 50.61 | 12.28 | 11.42 | 23.70 | 23.70 | 11.42 | 12.28
® Ber# | 1.00 | 11.20 | 11.20 | 4.30 | 3.65 0.45 0.20 | 44.52 | -1.19 | 43.33 | 43.33 | 12.28 | 11.42 | 23.70 | 23.70 | 11.42 | 12.28
1| mEm | 100 | 11.20 | 11.20] 365 | 3.00 0.45 0.20 | 37.24 | -1.19 | 36.05 | 36.05 | 12.28 | 11.42 | 23.70 | 23.70 | 11.42 | 12.28
O T wmem | 050 ] 1120 1095] 500 290 0.00 0.20 | 16.34 | -0.56 | 15.78 | 15.78 | 5.54 | 565 | 11.19 | 11.19 | 565 | 554
@ Ber# | 0.80 | 10.95 | 10.55 | 2.90 | 2.74 0.00 0.20 | 24.26 | -0.87 | 23.30 | 23.39 | s.60 | 8.77 | 17.37 | 17.37 | 8.77 | s.60
® Ber# | 1.32 | 10.55 | 0.00 | 2.74 | 2.48 0.00 0.20 | 18.48 | -0.70 | 17.78 | 17.78 | 6.96 | 7.10 | 14.06 | 14.06 | 7.10 | 6.96
4.62 A&t 140.84 | -4.51 | 136.33 | 136.33 90.02 | 90.02 | 44.36| 45.66
KB = = KB NG - - -
KEH E = = KEH B - - -
A 136.33| 136.33 EAT PN 90.02 | 44.36| 45.66
E “1.72| -1.72 LT
B b &t 134. 6 134.6 [ 90.02 44.36 | 4566
@it 134.6| 134.6 90.0 | 44.4 | 457

X eHMBEFEREHAERICIU—RE 0.05m3/m2& LTS,
X BEAFRRERI S U —RE 0.05m3/m2& LTS,

Tk 19)-HERR g
#% | mp | m [ TR | £& [ TR | t@ | ramn| Tamn| sk BEZE] 88 |upppm £RB | TR | WE |y qug CHS | #ES | @3
i | tiw | w | ww | ew | av| a| @ | B e R w) [ e [ w [ P @) | w
0] BE L& 1.00 6.00 7.20 9.50 8.85 0.45 0.20 60. 49 -0.70 59.79 7.24 6.73 13.97 13.97 13.97
@ BL# | 1.00 | 1.20 | 840 | 8.85 | 820 | 0.45| 0.20 | 643 | -0.83 | 560 6.55 | 7.95 | 16.50 | 16.50 16.50
©) BE L& 0.75 8.40 9.30 8.20 7.7 0.45 0.20 52.77 -0.70 52.07 7.28 6.71 14.05 14.05 0.98 13.07
@ BE L& 0.75 9.30 10. 20 7.1 7.23 0.45 0.20 54.60 -0.77 53.83 8.02 7.46 15.48 15. 48 3.31 12.17
® BE# | 0.75 | 10.20 | 11.10 | 7.23 | 6.74 | 0.45 | 0.20 | 55.77 | -0.85 | 54.92 8.76 | 815 | 16.91 | 16.91 | 3.88 | 13.08
® BE L& 0.75 11.10 12.00 6.74 6.25 0.45 0.20 56.24 -0.92 56.32 9.50 8.83 18.33 18.33 4.46 13.87
@ B EAR 0.75 12.00 12.00 6.25 5.76 0.45 0.20 54.05 -0.95 53.10 53.10 9.87 9.18 19.05 19.05 5.03 14.02
® B L 0.75 12.00 12.00 5.76 5.28 0.45 0.20 49.68 -0.95 48.73 48.73 9.87 9.18 19.05 19.05 5.60 13.45
E BeL# | 1.00 | 12.00 | 12.00 | 5.28 | 4.63 | 0.45 | 0.20 | 59.46 | -1.27 | 56.10 | 58.19 | 13.16 | 12.24 | 25.40 | 25.40 | 9.49 | 15.01
® BELE 1.25 12.00 12.00 4.63 3.81 0.45 0.20 63.30 -1.59 61.71 61.71 16. 45 15.30 31.75 31.75 13.66 18.09
(W) B L 1.25 12.00 12.00 3.81 3.00 0.45 0.20 51.08 -1.59 49. 49 49.49 16. 45 15.30 31.75 31.75 14.45 17.30
® BL# | 1.50 | 12.00 | 12.00 | 3.00 | 2.70 | 0.00 | 0.20 | 51.30 | -1.82 | 49.48 | 49.48 | 16.00 | 18.36 | 36.36 | 36.36 | 18.36 | 18.00
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